
9E Points of Intersection 

 

 

1. The lines 𝑙1 and 𝑙2 have vector equations: 

𝒓 = (
3
1
1
) + 𝜆(

1
−2
−1

) 

and 

𝒓 = (
0
−2
3
) + 𝜇 (

−5
1
4
) 

Show that the lines intersect, and find their point of intersection. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. Find the coordinates of the point of intersection of the line 𝑙 and the plane 𝛱 where 𝑙 has 

equation: 

𝒓 = −𝒊 + 𝒋 − 5𝒌 + 𝜆(𝒊 + 𝒋 + 2𝒌) 

And 𝛱 has equation: 

𝒓. (𝒊 + 2𝒋 + 3𝒌) = 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. The lines 𝑙1 and 𝑙2 have equations: 

𝑥 − 2

4
=
𝑦 + 3

2
= 𝑧 − 1 

and  

𝑥 + 1

5
=
𝑦

4
=
𝑧 − 4

−2
 

respectively. 

Prove that 𝑙1 and 𝑙2 are skew. 

 


